Math 43 NAMES YOU ASKED TO BE CALLED IN CLASS:

Quiz 8§
Fri Dec 7,2012

SCORE: __ /35 POINTS |
SHOW ORGANIZED & PROPER WORK & SIMPLIFY YOUR FINAL ANSWER
1O RECEIVE FULLCREDIT |

0 -1
-2 1 0 1 2 _
Let R= 3 1 9 and S = . Which product, RS or SR, exists ? Find its value. SCORE: /5 PTS
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Let G = |and H = . _ SCORE: /6 PTS
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18] H3H-2X=G,find X.
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If matrix A has 3 rows, matrix B has 2 columns, matrix C has 4 rows, and B =CA4, 'SCORE: . /3 PTS
find the order of each matrix.
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Find|-2 1 [0 2 =1. ~ SCORE: ____/6PTS
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Using Gauss-Jordan elimination, find the solution of the system 2x —_3y+z =2. SCORE: ____ /10PTS
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